Description: Pedestrian Accessibility Improv.

Specification No.: PW18-0045F

				ENGINE ESTIM		Low E Ceccar	TOTAL STREET	#2 Bidder Sound Pacific Construction	
Item	n Description	Unit	Quantity	<b>Unit Price</b>	Amount	Unit Price	Amount	Unit Price	Amount
1	Roadway Surveying	LS	1	\$8,000.00	\$8,000.00	\$1,500.00	\$1,500.00	\$22,000.00	\$22,000.00
2	SPCC Plan	LS	1	\$500.00	\$500.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00
3	Mobilization	LS	1	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$58,000.00	\$58,000.00
4	Pedestrian Traffic Control	LS	1	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00	\$24,000.00	\$24,000.00
5	Project Temporary Traffic Control	LS	1	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$120,000.00	\$120,000.00
6	Clearing and Grubbing	LS	1	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$7,500.00	\$7,500.00
7	Roadway Excavation Incl. Haul	CY	127	\$40.00	\$5,080.00	\$190.00	\$24,130.00	\$50.00	\$6,350.00
8	Remove Existing Pavement	SY	1,232	\$18.00	\$22,176.00	\$20.00	\$24,640.00	\$35.00	\$43,120.00
9	Remove Curb	LF	678	\$20.00	\$13,560.00	\$2.00	\$1,356.00	\$10.00	\$6,780.00
10	Remove Catch Basin	EA	1	\$450.00	\$450.00	\$300.00	\$300.00	\$500.00	\$500.00
11	Crushed Surfacing Top Course	TN	260	\$55.00	\$14,300.00	\$40.00	\$10,400.00	\$60.00	\$15,600.00
12	HMA CL 1/2" PG 64-22, per ton	TN	149	\$105.00	\$15,645.00	\$260.00	\$38,740.00	\$250.00	\$37,250.00
13	Cement Concrete Pavement, 8-In thick	SY	11	\$85.00	\$935.00	» \$180.00	\$1,980.00	\$250.00	\$2,750.00
14	D.I. Culvert Pipe, 8-In. Diam	LF	10	\$65.00	\$650.00	\$150.00	\$1,500.00	\$75.00	\$750.00
15	D.I. Culvert Pipe, 12-In. Diam	LF	55	\$80.00	\$4,400.00	\$150.00	\$8,250.00	\$100.00	\$5,500.00
16	Trash Rack 12 In. Diam	EA	2	\$200.00	\$400.00	\$450.00	\$900.00	\$400.00	\$800.00
17	Adjust Existing Catch Basin, Furnish New Frame and Vaned G	EA	7	\$350.00	\$2,450.00	\$700.00	\$4,900.00	\$1,200.00	\$8,400.00
18	Adjust Existing Valve Chamber to Grade	EA	1	\$300.00	\$300.00	\$380.00	\$380.00	\$1,100.00	\$1,100.00
19	Adjust to Grade	EA	4	\$550.00	\$2,200.00	\$490.00	\$1,960.00	\$950.00	\$3,800.00
20	Catch Basin Type 1	EA	1	\$1,500.00	\$1,500.00	\$1,740.00	\$1,740.00	\$2,000.00	\$2,000.00
21	Reconnect Existing Sewer Pipe to New Structure	EA	1	\$650.00	\$650.00	\$380.00	\$380.00	\$1,500.00	\$1,500.00
22	Replace Catch Basin Grate	EA	7	\$100.00	\$700.00	\$490.00	\$3,430.00	\$2,400.00	\$16,800.00
23	Erosion/Water Pollution Control	LS	1	\$250.00	\$250.00	\$1,600.00	\$1,600.00	\$15,000.00	\$15,000.00
24	Stormwater Pollution Prevention Plan (SWPPP)	LS	1	\$500.00	\$500.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00
25	Site Restoration	LS	1	\$1,500.00	\$1,500.00	\$2,700.00	\$2,700.00	\$10,000.00	\$10,000.00
26	Cement Conc. Traffic Curb and Gutter	LF	678	\$35.00	\$23,730.00	\$45.00	\$30,510.00	\$61.00	\$41,358.00
27	Cement Conc. Sidewalk	SY	182	\$50.00	\$9,100.00	\$60.00	\$10,920.00	\$80.00	\$14,560.00
28	Cement Conc. Curb Ramp	EA	30	\$2,000.00	\$60,000.00	\$2,400.00	\$72,000.00	\$4,100.00	\$123,000.00

Description: Pedestrian Accessibility Improv.

Specification No.: PW18-0045F

				ENGINI ESTIM		Low E Ceccar	TO THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAMED IN COLUM	#2 Bidder Sound Pacific Construction	
Item	Description	Unit	Quantity	<b>Unit Price</b>	Amount	<b>Unit Price</b>	Amount	Unit Price	Amount
29	Cement Conc. Curb Ramp with Asphalt Gutter	EA	6	\$1,500.00	\$9,000.00	\$1,600.00	\$9,600.00	\$4,100.00	\$24,600.00
30	Bus Pad	SY	31	\$155.00	\$4,805.00	\$130.00	\$4,030.00	\$240.00	\$7,440.00
31	Permanent Signing	LS	1	\$250.00	\$250.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00
32	Plastic Line	LF	100	\$6.50	\$650.00	\$4.00	\$400.00	\$8.00	\$800.00
33	Plastic Stop Line	LF	12	\$12.00	\$144.00	\$14.00	\$168.00	\$22.00	\$264.00
34	Plastic Access Parking Space Symbol	EA	2	\$850.00	\$1,700.00	\$150.00	\$300.00	\$300.00	\$600.00
_	Total - Schedule A				\$250,025.00		\$302,214.00		\$626,122.00
Sche	dule B: North 4th and North 'I' St ADA Improvements								
1	Roadway Surveying	LS	1	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$3,500.00	\$3,500.00
2	SPCC Plan	LS	1	\$500.00	\$500.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00
3	Mobilization	LS	1	\$8,000.00	\$8,000.00	\$7,000.00	\$7,000.00	\$14,000.00	\$14,000.00
4	Pedestrian Traffic Control	LS	1	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$5,000.00	\$5,000.00
5	Project Temporary Traffic Control	LS	1	\$4,250.00	\$4,250.00	\$4,000.00	\$4,000.00	\$27,000.00	\$27,000.00
6	Clearing and Grubbing	LS	1	\$500.00	\$500.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00
7	Remove Existing Pavement	SY	320	\$20.00	\$6,400.00	\$20.00	\$6,400.00	\$35.00	\$11,200.00
8	Remove Curb	LF	190	\$20.00	\$3,800.00	\$2.00	\$380.00	\$9.00	\$1,710.00
9	Crushed Surfacing Top Course	TN	90	\$65.00	\$5,850.00	\$40.00	\$3,600.00	\$70.00	\$6,300.00
10	HMA CL 1/2" PG 64-22, per ton	TN	77	\$95.00	\$7,315.00	\$260.00	\$20,020.00	\$250.00	\$19,250.00
11	Erosion/Water Pollution Control	LS	1	\$250.00	\$250.00	\$900.00	\$900.00	\$3,000.00	\$3,000.00
12	Stormwater Pollution Prevention Plan (SWPPP)	LS	1	\$500.00	\$500.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00
13	Site Restoration	LS	1	\$1,500.00	\$1,500.00	\$600.00	\$600.00	\$2,500.00	\$2,500.00
14	Cement Conc. Traffic Curb and Gutter	LF	210	\$35.00	\$7,350.00	\$45.00	\$9,450.00	\$65.00	\$13,650.00
15	Cement Conc. Sidewalk	SY	38	\$60.00	\$2,280.00	\$60.00	\$2,280.00	\$90.00	\$3,420.00
16	Cement Conc. Curb Ramp	EA	8	\$2,500.00	\$20,000.00	\$2,400.00	\$19,200.00	\$4,100.00	\$32,800.00
17	Permanent Signing	LS	1	\$250.00	\$250.00	\$300.00	\$300.00	\$1,000.00	\$1,000.00
	Total - Schedule B	1			\$72,245.00		\$77,130.00		\$147,830.00

Description: Pedestrian Accessibility Improv.

Specification No.: PW18-0045F

	Description	Unit	Quantity	ENGINEER'S ESTIMATE			Low Bidder Ceccanti, Inc.		#2 Bidder Sound Pacific Construction	
Item					Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
	Schedule C: South 38th: McKinley to Pacific						,			
1	Roadway Surveying	LS	1	\$	6,000.00	\$6,000.00	\$1,500.00	\$1,500.00	\$8,500.00	\$8,500.00
2	SPCC Plan	LS	1	\$	500.00	\$500.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00
3	Mobilization	LS	1	\$	22,000.00	\$22,000.00	\$20,000.00	\$20,000.00	\$29,000.00	\$29,000.00
4	Pedestrian Traffic Control	LS	1	\$	3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$8,500.00	\$8,500.00
5	Project Temporary Traffic Control	LS	1	\$	18,000.00	\$18,000.00	\$10,000.00	\$10,000.00	\$27,000.00	\$27,000.00
6	Portable Changeable Message Sign	LS	1	\$	5,000.00	\$5,000.00	\$3,700.00	\$3,700.00	\$7,000.00	\$7,000.00
7	Clearing and Grubbing	LS	1	\$	1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$4,000.00	\$4,000.00
8	Remove Existing Pavement	SY	987	\$	22.00	\$21,714.00	\$20.00	\$19,740.00	\$32.00	\$31,584.00
9	Remove Curb	LF	565	\$	20.00	\$11,300.00	\$2.00	\$1,130.00	\$10.00	\$5,650.00
10	Crushed Surfacing Top Course	TN	190	\$	65.00	\$12,350.00	\$40.00	\$7,600.00	\$65.00	\$12,350.00
11	HMA CL 1/2" PG 64-22, per ton	TN	168	\$	95.00	\$15,960.00	\$260.00	\$43,680.00	\$250.00	\$42,000.00
12	Adjust Existing Catch Basin	EA	2	\$	300.00	\$600.00	\$490.00	\$980.00	\$700.00	\$1,400.00
13	Adjust to Grade	EA	1	\$	550.00	\$550.00	\$490.00	\$490.00	\$800.00	\$800.00
14	Replace Catch Basin Grate	EA	1	\$	100.00	\$100.00	\$490.00	\$490.00	\$750.00	\$750.00
15	Erosion/Water Pollution Control	LS	1	\$	250.00	\$250.00	\$1,600.00	\$1,600.00	\$6,000.00	\$6,000.00
16	Stormwater Pollution Prevention Plan (SWPPP)	LS	1	\$	500.00	\$500.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00
17	Site Restoration	LS	1	\$	1,500.00	\$1,500.00	\$2,700.00	\$2,700.00	\$3,500.00	\$3,500.00
18	Cement Conc. Traffic Curb and Gutter	LF	540	\$	35.00	\$18,900.00	\$45.00	\$24,300.00	\$65.00	\$35,100.00
19	Cement Conc. Driveway Entrance	SY	161	\$	85.00	\$13,685.00	\$78.00	\$12,558.00	\$95.00	\$15,295.00
20	Cement Conc. Sidewalk	SY	96	\$	60.00	\$5,760.00	\$60.00	\$5,760.00	\$85.00	\$8,160.00
21	Cement Conc. Curb Ramp	EA	18	\$	2,500.00	\$45,000.00	\$2,400.00	\$43,200.00	\$4,100.00	\$73,800.00
22	Permanent Signing	LS	1	\$	1,500.00	\$1,500.00	\$500.00	\$500.00	\$4,000.00	\$4,000.00
23	Plastic Crosswalk Line	LF	400	\$	7.50	\$3,000.00	\$14.00	\$5,600.00	\$12.00	\$4,800.00
	Total - Schedule C					\$208,669.00		\$208,528.00		\$331,189.00

Description: Pedestrian Accessibility Improv.

Specification No.: PW18-0045F

	Description	Unit	Quantity	ENGINEER'S ESTIMATE		Low Bidder Ceccanti, Inc.		#2 Bidder Sound Pacific Construction	
Item				Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
	TOTAL BASE BID (Schedule A+B+C)				\$530,939.00		\$587,872.00		\$1,105,141.00
	GRAND TOTAL (BASE BID)				\$530,939.00		\$587,872.00		\$1,105,141.00
	SBE = Less Tax				\$530,939.00		\$587,872.00		\$1,105,141.00

<sup>\*</sup> Correction made to Bid Item Total and/or Bid Total Amount